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Worksheet No.1: Give what is ask. 
 

 

 

 
 

 

G.

1.(-11) + ( -11) =

2. 11 - (-11) =

3. (-11) X (-11) =

4. (11) ÷ (-11) =

A.

1. 5 + 80 = 

2. 1000 + (-400) = 

3. (-13240) +  (-5012)=

B.

1. 50 - 8 =

2. 1000 - (-400)=

3. -1324 - (-5210)=

C.

1. 50 X 8 =

2. 1000 X (-400)=

3.(-134 ) X (-510)=
D.

1. 45 ÷ 8 =

2. 1000 ÷(-200)=

3.(-20000 ) ÷ (-500)=

E.

1. (-25 ) + (-25 )=

2.(-25) - (25)=

3. 25 - (-25)=

F.

1. (-25 ) X (-25 )=

2.(-25) X (25)=

3. 25 ÷ (-25)=
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Answer Key: 

Worksheet No.1 

A. 1. 85                       2. 600                     3. -18252 

B. 1. 42                      2. 1400                  3. 3886 

C. 1. 400                    2. -400000              3. 68340 

D. 1. 5                         2. -5                        3. 40 

E. 1. -50               2. -50                      3. 50 

F. 1. 625                    2. -625                    3. -1 

G. 1. -22                    2. 22                        3. 121                     4. -1 

 


